
ICS Part 2 Computer Science Online Test

Sr Questions Answers Choice

1 Which is the correct sequence of steps for creating and executing C program?

A. Editing<span style="color: rgb(34,
34, 34); font-family: arial, sans-serif;
font-size: small;">→ saving</span>
<span style="color: rgb(34, 34, 34);
font-family: arial, sans-serif; font-size:
small;">→ compiling</span><span
style="color: rgb(34, 34, 34); font-
family: arial, sans-serif; font-size:
small;">→ linking</span><span
style="color: rgb(34, 34, 34); font-
family: arial, sans-serif; font-size:
small;">→ Executing</span>
B. <span style="color: rgb(34, 34, 34);
font-family: arial, sans-serif; font-size:
small;">Compiling</span><span
style="color: rgb(34, 34, 34); font-
family: arial, sans-serif; font-size:
small;">→</span>Editing<span
style="font-family: arial, sans-serif;
font-size: small; color: rgb(34, 34,
34);"></span><span style="font-
family: arial, sans-serif; font-size:
small; color: rgb(34, 34, 34);">→
saving</span><span style="font-
family: arial, sans-serif; font-size:
small; color: rgb(34, 34, 34);">→
Executing</span><span style="color:
rgb(34, 34, 34); font-family: arial,
sans-serif; font-size: small;">→
linking</span>
C. Editing<span style="color: rgb(34,
34, 34); font-family: arial, sans-serif;
font-size: small;">→ Executing</span>
<span style="color: rgb(34, 34, 34);
font-family: arial, sans-serif; font-size:
small;">→ Compiling</span><span
style="color: rgb(34, 34, 34); font-
family: arial, sans-serif; font-size:
small;">→ Linking</span>
D. <span style="font-family: arial,
sans-serif; font-size: small; color:
rgb(34, 34, 34);">Linking</span>
<span style="font-family: arial, sans-
serif; font-size: small; color: rgb(34,
34, 34);">→</span>Executing<span
style="font-family: arial, sans-serif;
font-size: small; color: rgb(34, 34,
34);">→ saving</span><span
style="font-family: arial, sans-serif;
font-size: small; color: rgb(34, 34,
34);">→ Editing</span><span
style="font-family: arial, sans-serif;
font-size: small; color: rgb(34, 34,
34);">→ compiling</span>

2 The programmer usually enters source code into a computer using:
A. Compiler
B. Text editor
C. Debugger
D. Linker

3 An IDE stands for:

A. Input data error
B. Input Desktop environment
C. Integrated Development
Environment
D. Internal Disk error

4 A IDE typically consists of:

A. Text editor
B. Compiler
C. Debugger
D. All

5 Turbo C++ can compile:
A. C programs only
B. C and C++ programs
C. Turbo C Programs only
D. Turbo C++ programs only



6 Which of the following language provided the basis for the development of c:
A. C++
B. B
C. JAVA
D. Pascal

7 C is a:
A. High Level language
B. Low-level language
C. Assembly language
D. Machine language

8 C was designed to write program for:
A. Windows operating system
B. Solaris Operating system
C. Unix Operating system
D. OS/2 Operating system

9 Who developed C?
A. Von-Meumann
B. Al-Khuwarizmi
C. Charles Babbage
D. Dennis Ritchie

10 B was developed in the year:
A. 1969-70
B. 1965-1975
C. 1972-1988
D. 1992-1996

11 C was developed in the year:
A. 1970
B. 1972
C. 1976
D. 1995

12 Computer program are also known as:
A. Hardware
B. Software
C. Firmware
D. None

13 A well-organized set of instructions given to the computer is called:
A. Hardware
B. Software
C. Bug
D. None

14 Which of the following is used to display yes/no values?
A. Checkbox
B. Option button
C. Both a and b
D. None of these

15 Which of the following is used to display a list of items in forms?
A. List box
B. Combo box
C. Both a and b
D. None of these

16 Which of the following options is used fro editing forms in MS Access?
A. Grid lines
B. Snap to grid
C. Resizing objects
D. All

17 Which type of report lists every field for every record in a single column?
A. Tabular report
B. Summary report
C. Columnar reports
D. All of these


